Pre-Calculus 11

2.4 Multiplying and Dividing Radical Expressions (

When multiplying radicals, you multiply coefficient by coefficient and radicand by
radicand. You can only multiply radicals with the same ind € x

Example #1: Multiply the following. Answer in simplest form.

a) 23 x 46 AN b) 33/2x - 73/5x2
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Note: When radicals have variables in the radicand, it is important to identify the
values of the variable for which the expression is undeined
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( Example #3: Divide the following. Answer in simplest form.
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A radical is in lowest terms when there is no radical in the dQV\OW\\\f\a‘\’OV
To simplify an expressmn that has a radical in the denominator, you needto
Yadianalize the denominator. -

To Rationalize a Monomial Denominator: ~
1. Multiply top and bottom by the radical in the denominator

2. Simplify
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To Rationalize a Binomial Denominator
1. Determine a conjugate of the denominator.
2. Multiply top and bottom by the conjugate.
3. Simplify

The conjugateof a+b is_Q - b
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Note that the product of conjugates is a difference of squares (o4+b) (q-«b\ =0 54
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